@ wtetE—I2=% 2 (2004 )

1) ( )
-1
( 11 7 16 105 ) 0.1ng TEQ/mSN
0.6pg TEQ/m?3
DeDIOX( ) ( 1000 pg TEQ/g
DeDIOX ) 1000 pg TEQ/g
250 pg TEQ/g
DeDIOX ( ng =10 °g 10 1 pg =10 g 1 1
13 9 5 15 7 1 TEQ 2378
) ( )
a)
b)
3) ( )
a) 3ng-TEQ/g
b) 3ng-TEQ/g

0.1 5.0ng TEQ/mS3N

0.6pg
TEQ/m3
1,600 8,000
-2
401
15 8 25 15 11 14 DeDIOX
600kg/h DeDIOX
80 100 H20 CO2 HCI
[DeDIOX ]
@
(2) 0.6pg TEQ/M?
3

2,3



@ wnetE—I2=S 2 (2004 )

——— @)
KDI I():( + H0; —— H,0 + CO; + HCI
o o Cl ROARK raoom) K EAX  mE

2.3,7,8-T.CDD
TSNS 10544

SBYFUTA FAAELIARTOCR

DeDIOX Process

(4)
(-2
2 ( )
[ DXN |
| - |
| = (1) (20,000pg) - (27pg)
l B l 3,000pg
I - |
| | (2) DeDIOX DeDIOX (0.037pg)
|
I |
| 3)
I = l a) (0.47pg) - (0.045pg)
| | b) (58pg) - (42pg)
1)
DeDIOX
(
DeDIOX
0.6pg-TEQ/m?3
Key words

2 -4 401



